10.1d.gwb - 1/8 - Mon Feb 17 2014 09:32:52

10.1 Formulas for cos (o £ 3) and sin (a £ [3)
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cos (oo + f)=cosacos B —sinasin 3

cos (0. — ) =cosacos 3 +sina sin f

sin (. + ) =sin o cos 3 + cos o sin

sin (o — ) =simnacos 3 —cos a sin 3

Example: Simplify-do not evaluate. |
sin 20°cos 15" —¢0s20°sin 15" = S n (20 — 35)
™ih S
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Example: Find the exact value of
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Example: Find the exact value of cos 15°.

CoS( HS- 30\ = Cos Y5 033D + sinUSsin30
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Example: Verity:
sin 6 = cos(w/2 — 0)
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Example: Verity:

cos(X — V)
tan x +cot v = :
J ., CcosSXsmy
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